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Note: All resistances are in homes.

Q1) (4 points) For the circuit shown in figure 1, use superposition principle to
find the current Ix.

Q2) (5 Points) for the circuit shown in figure 2-a if the current I(t) is shown in
figure 2-b and V(0)=0, answer the following:

a) find the equivalent capacitance as seen by the current source.

b) find and plot V(1) (the voltage across the current source).

c) find V(1.5 ms).

Q3) (7 points) for the circuit shown in Figure 3-a answer the following questions:

a) Find the Thevenin voltage and resistance as seen by the load.

b) Find the Norton current and resistance as seen by the load.

c) Assume the load is varying resistance; what is the maximum power delivered
to the load. ’ ;

d) Now assume that the load is Non-linear circuit element with [-V
characteristic curve shown in fig. 3-b; plot the D.C.L.L and determine the
current and the voltage of the load graphically.
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Q4) (4 points) for the circuit shown in figure 4, answer the following questions:

a) The impedance as seen by the source.
b) IL(t), VL(t)
¢) The phase difference between I and V.
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